ﬁ MEEA _
&X® L
ARl T HRAVR(C FHF T )
(FAREIRVREZ 2 EY BRI PARETHBca k> g ARAFI 24304 > LEEITARHEP)

";"J’EE" -erﬁl'K-)aE'\b.%A"P;.— KT @ FF oK
g Nz /"’\F—JJU 9’\%7}“ 70° ~ 51%7”‘600':"5”'% rﬁ’_’é%}i‘{,ﬁ":r ' T lvﬁfuﬁ'#ﬁﬂ y 'ﬂm 1;. 1 /?’

7—-
(]
o
-
as
-
?m¥-
J
N
o
o
N
o
45“'
r
4

(7o F D A TR T A P Y LA D z s g
A
(94 §— A~ 5 4 pPlopEHAT 2940) X

(A 2 (7 ek
(B) & A {7 ehuEdg- R £

(C) © i {7 SpEd ] 200 2
(D) & i {7 SpEd ]+ 200 2 ¢

ﬁ?*é:%zﬂ}?](.l-),;;;ra‘aﬁkt‘ﬁwgﬁo
E'JE’ ~ T IT‘& Aﬁ&%ﬁ_ﬁ:zoo’;} < , u /g—» f—r&E,%g‘ 2] y o /g‘ f’TﬁE’ .
= /i =180°-60°-70°=50°

= L7 =70°>/2 =60°> 4 =50°

= LA>TA>72 =200 % (= &% &4+ fwIm)
AL T AR E o
PEE R L (AEA - W)

RY - 4oB(Z) > AABC® > ZA=60° ~ /B=5%  FKF AABC = H#AB -~ AC ~ BCE e+ | B %3

7 (7944 % — =t A *F 4 PIKEHALF 2940)
C

59° o

wm(=)



PR FIPENMe AR e ViR A i) ABCDEF (% i3 & A @R 1S PR AT
[ ¢ R T 0 RIS R 2 SR

(106 % ¢ 4 E4H AL % 448)
(A (B) © (D)
A A A A
B B B B
F F F F
C c c c
E E E E
D D D D

2% 1 ERN

"T"

N

i% 7% (B) = I HN: B2 ffih e
i% 78 (C) = IS5 B2

D

E I (D) * AREFEA) -
AEE R s D)EA -

=y

Y = AeRI(Z) 0 a2 MG - BB R N EA NG ST
=4 4
k)

w(=)

I



https://youtu.be/Cs3uTUDxBLU
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https://youtu.be/ZRtS7kziGaw
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https://youtu.be/CYkdMYZNT5M
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